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13.

Which is effective word from the given words to fill in the blank to make the sentence

meaningfully complete ? : to the teacher for coming late to school.
A) Went B) Apologized C) Told D) Bowed
. When we they were having lunch. (Choose the correct alternative)
A) Arive B) Will arrive C) Arrived D) Hadarrived

. Which is not synonym word in given words ? : Exterminate

A) Destroy B) Eliminate C) FEradicate D) Distress

There is word spelt in four different ways. Out of them only one is correct, which one is
correct ?

A) Tentative B) Tentitive ), Tentetive D) Tenttive

. Choose from the group of words given beiow the phrase for Idiom : To shake of

A) Get read off B) To getridefs. C) Toescape of D) Torun away
Find the correct use of NOUN.

A) No pain was spared B) No pains were spared

C) Pains were not spares D) Pain was not spared

. Choose the antonym.of tlie word : URBAN

A) Town B) Rural C) City D) Metropolitan
Which is effelitive word from the given words to fill in the blank to make the sentence
meaningfullyicomplete ? : Whom would you prefer the two of us ?

A) among B) of C) between D) to

" Choose the word which is most opposite in meaning of the word : Pleasant

A) Admirable B) Disgusting C) Indecent D) Unexpected

Choose appropriate synonyms of : DEMISE
A) Accident B) Dismissal C) Death D) Disappear

Choose the correct antonym of the word : BELIEF
A) Trust B) Sure C) Right D) Doubt

Choose the correct noun the given sentence : I have received no information.
Al B) Information C) Received D) No

Choose the correct synonym of the word : Town
A) Village B) Cantonment  C) City D) Capital
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Choose which is not synonym word in given words of : PROHIBIT

A) Ban B) Prevent C) Abandon D) Forbid
Choose one word from following words which is wrongly spelt ?

A) Providential B) Sattelite C) Precedence D) Suspect
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A) Lsclol B) 2404e¢ C) 2eLuee D) 2L4eol
39. 3¢ 0 FRITET aEgE fohad 30 T 2T, o Forea s Terwrelta Sienet fohell a1 et ¢

A) R B) ¥ C) 2w D) 30

40. IR ST SHTIIG SATRA. 3Herue T s ST, e i) e e qEret R 3T,
Her T8 FHvTd 7
A) ], R0 B) & % C) ¥, R D) 4, 4

41. QeI sk Ml o
Q¢, %Y, {1, %3, R6;R%, /Y, —

A) %3 B) %o C) ¥ D) ¥
47y A 36 T ST fw G e fedt 7

A) 3o B) ¥ C) = D) 3%
43, T R ¢ TR ST, 3233 e fadi =nedi adfla 7

A) 4 B) ¢ C) & D) ¥
2. Erefier s TS § BT 3k SeheT RV ST 1R

¥UEBR¥ILRI0Y

A) ¥ B) & C) v D) ¢
45, 999 Farer=n steit @ g foml.

80:30 18R 7

A) 3o B) ¥o C) 3% D) ¥¥
46, T CETRRT B hodT ShIvi JrSet 7

INREGER] B) Here el C) SR D) eieEel e
A7 <t ST, YO e i SR TR TR ¢

A) & B) Redm C) eI D) Hefan

48, TTE AREE HUR S R ¢
AF B S Q) & D) s



A 8 I

49,

50.

51.

52.

53.

54.

55.

56.

57.

58.

39.

60.

T SR SEgTT= arEe feteg 3.
A) eufe. B) 3wufed. C) wolfed.
T 13T SeaTeHTa T=H HHiH T RV ?

A) FH-HT B) FAleH C) TERIS
AT O e fSreerd e ¢ |
A) TR B) arf C) geremn
gay srEul S estar, = - g -

A) Tt B) 7wy C) WiHEA
T 9 ST 9158 SASEl.

A) i B) = C) o=
ST et AT R TRy Taa o o sheel fael 7

A) T, LY B) ®lealq, 2¢o¢  C) I, 8¢LR
A) HTedd B) AR ¢) Shemaa-a
FTRAWIES IV YeTsed Had= ?

A) FET B) @Al C) TRGNH
I e @ TR 7

A) T B) sad C) ¥

VTR T ST heg] STRETd 3TTail ¢

A) AR, 2% B) g4I, 8R40 () IESM. 8R40

ST SR T foTT o Tt ST 31e ¢
A) HiE B) aRamT C) ferR

TS e aew e R TR 7
A) Mo B) 3¢ C) R

C - 008-11

D) ¥3&f.

D) aifieg,

- D) SitE

D) &

D) =&t

D) THE, 8¢¢¢

D) IS

D) 3fREE

D) =

D) 2437 2R%R

D) i

D) x¢¥



C - 008-11 T A

61. Thermal energy that reaches surface of earth from sun, is transferred through process of

A) Conduction . B) Convection

C) Radiation D) Conduction and Convection
et geatar dreerort sl St shroreat Sfmsme i g 7

A) FEFH B) M

C) eum | D) FeayH i Fhroeaw

62. Trueabout X-rays are all EXCEPT
A) They are electromagnetic radiations
B) Travel with speed of sound
C) Produced by stopping high@Speed electrons in tungsten target
D) Intensity falls in accordahce with inverse square law

T - T Weeieh! IO U ST He SUa 3ATed

NG EGE AP ICE RS E R

B) 1 SIS e ST Bt

C) A ST ATlaH SR Sl s wtere et glard
D) groee S ST AT Hisd AR $efafe TmEld |

63. Temfetature required for automated processing is

A) 10 degrees B) 29 degrees C) 35 degrees D) 60 degrees
e AihAHTE anavae AT fehdi ?
A) 10 3= B) 20 319 C) 35 3 D) 60 39
64. Main component of fixing solution in development of films is
A) Sodium thiosulphate B) Sodium sulfite
C) Potassium alum D) Acetic acid
Trerra famramefier ST e e HIvw! ¢
A) Hifem ataethe B) Wfeay dowEe
C) et Tegn D) Wit fere
65. Thickness of lead equivalent for shielding of darkroom wall should be
A} 1.6 mm B) 2.6 mm C) 3.6 mm D) 4.6 mm
e @t aReETES) e el et et sremet vt 7
A) 1.6t B) 2.6 Todi C) 36T D) 4.6 fardt
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66.

67.

68.

69.

e "

70.

Darkroormn has
A) Nolight B) Darklight C) Sunlight D) Safe light
£ |52 G e ]
A) TERITEA B) TS3 YW A C) QAW IE D) Y T St
Fixing time should be |
A) Halfthe developing time B) Twice the developing time

C) One-fourth the developingtime D) Same as developingtime
Topferrm ates fokelt ST@TreTT it ¢

A) SeRaftn = o1l 9 B) Segaftn de5e gE 95

C) Il PN UH-IgAN A D) IeAfin I T 9%

All are advantages of autontated processing EXCEPT

A) Shortens processing liime B) Improve quality conirol

C) Increases workcapacity D) Decreases work capacity
e ufFa @M U ISl Ta HARd

INEERixE e B) &t fersor gamat

C) el guar aread D) it emat wH el
Allaf the following are plans for darkroom EXCEPT

A) Interlocked doors B) Maze

C) Two way revolving door D) Multiple doors
Sty Qe GTeliateh! T Siad) Gere dIsi 31Rd 7

A) T IR B) u¥

) 73 fregifeam sler D) TfeeTd el
Which of these will be completely stopped by a piece of paper ?

A) Neutron B) Gammaradiation

C) Alpharays D) X-rays
ATeh) h1e qUTTO HRTGTeA JREHIE leae SiEe 7

A) FgH ~ B) Tnifem

C) 3IHIT D) T
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71. Who of following can enter controlled area ?
A) Person with dose rate monitor
B) Radiation protection supervisor
C) Person working under written arrangements of unclassified person
D) Person wearing dosimeter

mm@a@@@ma@m?

A) 219 Yo Aot Hied Saea s

B) U™ WedM RETER

C) wrarfigra st Al ST Ftd s HLTR SAfHR
D) eifeefiet st s

72. All are true about CR EXCEPT
A) Uses a photostimulable phodphor plate B) Two staged process
C) Direct image reading D) Incorporated in existing equipment
3T, ST T T A S S AR
A) PrRfRREE HEbse Tl B) B AT Tish

C) e st e D) ST SURRTHER Tad Sl
73. CRis '
A) Compousid Radiography B) Computed Radiography
C) Colnputerized Radiography D) Common Radiography
CRew AR,
A Frse e B) wegee eammh
C) shegeusse eamrhl D) winfeammdt
74 Who makes sure employers local rules are being followed ?
A) Technician B) Radiation Protection Officer
C) Safety Officer D) Radiation Protection Supervisor
et T R e S TR A T 0 Rl ?
A) TR B) feuyr wiean tferrr
C) e SRl D) YfeueH W e
75. TLDis
A) Thermoluminescent Dosimeter B) Thermal Labile Dosimeter

C) Transparent Luminescent Dosimeter D) Thermoilluminated Dosimeter
TLD .

A) TR glEme B) udd wiesa St

C) TraTE wfiehe SHifiet D) wigegfiRee STEmi
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76. Who is responsible for ensuring adequate provision for radiation safety of employees ?
A) Radiation protection advisor B) Employer
C) Radiation protection supervisor D) Health executive

e HReuy WaETs! giel atge sTeeuTs W FETEs) v SEeEr T ¢

A) feur mewH teswRr B) e (et
C) IfSueM e o g D) ST HrIiTereRr
. 77. Portable radiography, all are true EXCEPT
A) Can be carried to destination B) Simple to use
C) Low mA setting 1)) High mA setting
sl el U e He Aol 3T
A) e ST 1S e B) Sowara §
C) tHu afin & D) wHu B s
78. Annual screening mammiegraphy should be done in women above age of
A) 20 yrs B) 30 yrs C) 40 yrs D) 50 yrs
TG ThIHT TR T AIEATHE TR g4l
A) 2098 B) 30=% C) 40a¥ D) 50=4
79. Anodeissyade up of
A) ‘Copper B) Aluminium C) Tungsten-Rhenium D) Lead
T\\"—'\'\]S I AT IR 7
A) q= B) tAfufam ) Tmeea-iem D) &g
80. X-ray tube was discovered by
A) Roentgen B) William Coolidge
C) Gregory Hounstield D) Nicolas Tesla
TG - S I IV AT ¢
- A) TgEA B) faferm gefigs
C) Wi glhiee D) e et

81. X-ray film emulsion is made up of
A) Cadmium B) Phosphorus  C) Silver halide D) Lead
T TlheH geT R sedt oTR ?
A) gt B) HTHHE C) foestdaEe D) &g
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82. Single coated films are used in
A) Chest radiography
C) Extremity radiography

B) Mammography
D) Xeroradiography

AT 1S fhera ST FRIEed Bt ?
A) B e B) HHWH!
C) waEfd D) wfemrd

3. Developing solution used in wet film processing consists of

B) Sodium thiosulphate
D) Chrome alum

A) Sulphuric acid

C) Hydrogquinone metol
3= Rren TRRmHE SeEatin PrgTrasd S I 7

A) RN ATA B) @fen diwacse

C) BTG Hetd D) e

84. Grid is made up ¢F
A) Lead
() Lead yiih tungsten Spacer
The ETE et 3 7

B) Lead with molybdenum spacer
D) ILead with aluminium spacer

AT, B) Hicfeem Se HiEd T,
; 1) e S e D) e S dEa g
‘ 85. All of the following are methods to improve radiographic quality EXCEPT
A) Transformer B) Grid
C) Beam limiting devices D) Filters
@@aﬁﬁ@mﬁm@wwgmmm ?
A) TRAHHT | B) e
C) fim ffirfén feeema D) freed
86. Filter in X-ray tube is made up of
A) Copper B) Aluminium C) Rhenium D) Gadolinium
e eI et FR St 3T 7
A) T B) UegfiriaH C) Taw ) REINEIRD

212«




A O C - 008-11

87. Rectifiers are
A) Conductors
C) Superconductors

B) Insulators

D) Semiconductors

UFewrd i 3ed 7
A) FeFed B) $qeied
. C) goeheaed D) ftshgaed
88. Anode in mammography tube is made up of

A) Molybdenum ) Rhenmum
C) Tungsten D) Copper

T SeHe e TS SheTTE @ T Irar ¢
A) Hiehiseiu B) fem
C) TRHA D) d

89. AERBstands for.
A) Atomic Efergy Ruling Body
C) AtomicEnergy Rules Body

B) Atomic Energy Regulatory Board
D) Atomic Energy Regulation Body

AFRR TS #19 ¢
A, e T = aid B) Ceifir it etedi aid
C) Uit TAfs! wcd Figt D) teifire TS teeiem e
90. Duration required for automated processing is
A) 5min. B) 20 min. C) 1 min. D) 1 hour
SHizTYE WafmeTE fr e st s 2
A) 5fuf By 20fafe ©) 1ffr D) 194
91. For general purpose radiography, minimum thickness of lead equivalent in protective
apparel should be
A) 1 mm B) 0.5mm C) 2mm D) 5mm
AT B e, raqTeneh U el ey Siee formm smet et sradt 2
A) 1Tt B) o.5fmft  ©) 2fEsf D) 5 fueft
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92. Dosereduction techniques in fluoroscopy include all EXCEPT
A) Reducing exposure time B) Increasing tube current

C) Improving collimation D) Pulsed fluoroscopy

W@awmﬁ@mwm%ﬁ?
A) mﬁnmm B) AT ogH e
C) yfm et D) e TR

93. The viewing glass in the CT console room should have lead equivalence of

A) 0.5 mm B) 1 mm C) 2mm D) 5mm
m.ﬁ.mmﬂﬁaaﬂmwﬂmw@aﬁaﬁ?ﬁmﬁ?
A) 0.5 Tl By, AT C) 2 foel D) 5fasft

94. PACS stands for
A) Picture Axck jving and Communication Systems

B) Picture »rchiving and Copying Systems

C) Pctu® Acquisition and Communication System

D) Picture Accepting and Communication System

PACS FEIS M ¢
A) e st afe HrfrR FaedE,
B) fyerer arefifem Sfg e RreteE,
0) el sfeFgfeT el
D) e e e ofe wegfeR Rl

95. MRI stands for

A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging

C) Magnetic Rectification Imaging D) Magnetic Resonant Imaging

MRI TEUR &
A) if REaRer i B) e YeAea FHS
C) B R gim D) e Yo SHiSHT
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96. Fourth generation CT scanner 18
A) Linear rotate type B) Linear linear type
C) Rotate rotate type D) Rotate fixed type
H1.2Y. el e sy o ?
A) Tafr iz yor B) fetfer ferforem werm
C) U2 Ue yahR D) ez fbayg warme
97. Annual radiation ¢xposure limit for radiation worker is
A) 1mSv B) 5mSv Cy30mSv D) 100mSv
e TR s Wy v Hatar fapd) ?
A) 1 mSv B) SmSv C) 30mSv D) 100 mSv

98. Role of AERB are all EXCEPT.
A) Registration of X-ray eqlirment B) Layout approval

C) Inspection D) Repair of X-ray equipment
AERB =t vffirsht u 377571 o a2

A) T 3T L oRREr B) ST 07=1qT

C) qaraufi D) qm—imﬁﬁw

99. Tollowingare advantages of TLD badge EXCEPT

A) Chipscan be reused B) Provide permanent record

C) Compact D) Wide dose range
ERSRAESERILEEILG S CE T P e

A) 9= g2t e € v B) shrwered) 9id 2q)

C) Hifae D) e geh iy

100. DSA stands for
A) Digital Sequential Angiography B) Digital Substraction Angiography
C) Direct Substraction Angiogram D) Direct Sequential Angiography
DSA Tgurst &7 ?
A) Tefsizar fafmer siRwimmd) B) fefora aagiasm sifmamd
C) TR Teavm s D) s faRfRme sifemms
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12.

13.

14.

Choose appropriate synonyms of : DEMISE

A) Accident B) Dismissal C) Death D) Disappear
Choose the correct antonym of the word : BELIEF
A) Trust B} Sure C) Right D) Doubt
Choose the correct noun the given sentence : | have received no information.
A 1 B) Information C) Received D) No
. Which is effective word from the given words to fill in the blank to make the sentence
meaningfully complete ? : 1 to the teacher for coming late to school.
A) Went B) Apologized C) Told D) Bowed
. When we they were having lunch. (Choose the correct alternative)
A} Arrive B) Willarrive C) Arrived D) Had arrived
Which is not synonym word i given words ? : Exterminate
A) Destroy B)“Eliminate C) FEradicate D) Distress
. Choose the correct s¥aonym of the word : Town
A) Village B) Cantonment C) City D) Capital
. Choose whickisnot synonym word in given words of : PROHIBIT
A) Ban B) Prevent C) Abandon D) Forbid
. Choos®one word from following words which is wrongly spelt ?
AY\FProvidential B) Sattelite () Precedence D) Suspect
Choose the antonym of the word : URBAN
A) Town B) Rural C) City D) Metropolitan
Which is effective word from the given words to fill in the blank to make the sentence
meaningfully complete ? : Whom would you prefer the two of us ?
A) among B) of C) between D) to

Choose the word which is most opposite in meaning of the word : Pleasant

A) Admirable B} Disgusting C) Indecent D) Unexpected
There is word spelt in four different ways. Out of them only one is correct, which one 1s
correct ?

A) Tentative B) Tentitive C) Tentetive D) Tenttive

Choose from the group of words given below the phrase for Idiom : To shake of

A) Getread off B) Togetridof C) To escape of D) Torunaway
3.
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15. Find the correct use of NOUN.

A) No pain was spared B) No pains were spared

C) Pains were not spared D) Painwas not spared
16. FeRI=AT YT SR Sl

A) Trrft o) -esst au B) wufRI Biol-ara e s 30

C) T EIV - IR ST D) Sics ATgH 01 -Sies Torea srerml
17. Qe I 1ee vl ?

A) fous B) Wl C) smgEd D) sfafes
18. T TASTST STAT o7 AT el ST Yo7 ?

A) FAd B) ol C) WA D) st g swa
19. Erelid AT A9 yE i e e, |

A) SRR B) SR STq ST shet

C) IES T v D) U e aft wesfye
20. WETSOTSTSETeAT Wl R A vty fae.

AT + R B) @&+ AR C) el + 49X D) i +3THER
2 Y- Tal1efted TreaT=ar et srseren gty e

EEUEE

A) =ard B) Ig0T C) FamTid D) SEurmT
22. ATSR SETER TEet A7 drITd e Y037 YahT AT2ET.

A) hIAT B) 3vETrf C) Teeniarsmo D) wsearft
23, FehrtSIE 3.

A) THE-3T6 B) TN -gMalY () SE-HEWRd D) Sifcuih-game
24, 315[E 5T SAlesa.

A) 3 B) 3fi= C) fafirss D) 93
25. VTR TTOYYT TSR A= 9] 7 hiord, e g e,

A) IR B) STcAehat C) FEHd D) Tifaems

26. eI ST Ush HLYUl 3158 G Bl e 19 @ ) frast 2 awma s
A) TR B) TR C) geusIh D) Romerh
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57, grrsft o yraaret faegredt STeaT W FEel.

A) ST B) WA C) s D) Tt
28. el T BT STEEETE SEETE ¢
. A) fEhar-wig B) sT-3H C) wnfir-4 D) -
| 20 G HEETE T FEe Y64 hIvwI ?
A) | B) Y™ C) = D) ¥
| 30, Wi VT vTsE T A1 YeETd A A ¢
A) e B) AT C) it D) @i

31, el o7 Wifeha e Tedl e,
¢, £Y, %], 4, R0

A) <2 B) 4 C) 3o D) R
32, SR ¥Ro% —& ATHEAT v 3 9y w117 SiTer 378k ot ST ST} T 3 Feed 7
A) ¥ B) 4 C) & D)
33, i s &4 T S g 30 SR T Il Tatd wEM §el v
Ap30 B) %¢ C) ¥ D) R
34. w@waﬁ.ﬁﬁ?akxm.nmmﬁﬁmmmm,m
IR U8 I ?
A) &, R B) &, %¢ Q) ¥, %R D) &, 84

35. TR ik ATt qoi 0.
R¢, R¥, R, %3, R&, ’3, %%, —

2) /3 B) ke C) *¥ D) &¢
- 36, 2y X 3% A e v g sl fohd ¢
A) %o B) R C) 3 D) 3
17 arelie STEHTTSha TehTeaT STl SIoTd Fe Aget ¢
?7\53 ge‘;“

A) ¢ B) W C) W& D) %%
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38. Qe SeteA Tt * 531 S =RI0TT 37k J5a ¢

* 3
k¢ e [
* LI |
4 o b
A) 4 B) ¢ C) R D)%_

-39, wrefid e wifertha fermn seft wtord) g Ader ?
29,39, 30, 3¢, -, 4%

A) ¥o B). ¥4 C) 4o D) 3%
40, w1 Tl FEEA ¢ TR AR, 23R el Tl wred Adie 7
| A) R4 _ B) ¢ C) 3% D)
) 4). Tt ik T ¢ €1 3o STHIhGH VIl T 318 7
< ¥HEORYILARARY
<3} A) ¥ B) & C) D) ¢
7 \ ‘ .
| 42. g ST Sl 9 g fore.
OWH 18 T |
A) 30 | B) ¥o C) 3% D) ¥¥
13, WERxCH =7 | -
A) ¥3¢EY B) ¥u&3¢ C) ¥¢38Y D) ¥&4c3
44, 38x30+3¢IxRCI=T
A) 29chol B) %¢olse C) 2eese D) gl
45. ¢o TR FEGE AT 340 TR e, T oy fekwrdia Siener foheft ame et ¢
A) Y B) ¥ C) ¢ D) 3
46. AT TS TE T AU Gfchay 1ad.
A) ReTfed, B) 3edafey. C) wodfed. D) ¥3afey.
47. HaTtet WY IATEATT TI9 hiTehrs Tsd HIUd 7 |

A) SH-HBR B) i C) WERT D) T
48, ST GUER shivre fregma e 7 |

A) IFRTE B) ariH C) geA_mm D) Sier
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50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60

A) TTeaS B) AR C) Siada-=
TS 10 JeTsed T8 ?

A) FH B) @i C) TEGNH -
IO e @Y AT ¢

A) g, B) At C) v

T TS ) et ol Hiee ?

INREGE LS B) HETVTER C) SHYE™
ot =t i & O wfeeees o i v e ST 7

INE - B) feaam™ C) Haq
TS ATETATEY 10 ST 318 7

A) & B) & C) o
TGl e T Sheg] TS ATl ¢

AR RR. 2R¥R B) 34 HM. §]40 () IETH. §]4o
AT YT T Tt 1[UTeR Tt S AT ?

A) 3 B) gfamm C) femr
T e gew v e o ?

A) o ~ B) 3¢ Q) e
Gy s St agtan, =i -y e -

A) it B) 7wy C) WiEH
TETel A T 9158 BT,

A) Fegrm B) d& C) fiaz
| R G T WETeHT et %3 o ket Tt ?

A) FWRI, L0k B) HETE, ¢ C) T, 8CLE

T

C - 008-22

D) &S

D) AffasH

D) =@

D) SrcrerTgd et

D) Wit

D) &

D) {4 3. 3R¥R

D) &ieh

D) 2¢¥

D) el

D) =i

D) T, 8¢
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61. Filter in X-ray tube is made up of

A) Copper B) Aluminium C) Rhenium D) Gadolinium
g - EEEHIA et FIW S T8 ? |
A) T B) Veftiam C) tm D) Tt
62. Rectifiers are |
A) Conductors B) Insulators
C) Superconductors D) Semiconductors
A) FERHE B) T
C) GHFSTH D) ftekerd
f hj 63. Anodein mammography tube is made up of
i 5 A Molybdenum B) Rhenium
;E w C) Tungsten D) Copper
Y egemeiier TATS SR s g ?
A) Hiciise¥ B) 1M
C) TEHA D) o=

64. AERB stands for

A) Atomic Energy Ruling Body B) Atomic EnergyRe gulatory Board
C) Atomic Energy Rules Body D} Atomic EnergyRe gulation Body
ADRB wvs %1 7 | |
) e TR R ) e TR e T
¢) Ttk Tl e St D) Weffirn Gl g el
65. Duration required for automated processing is |
A) 5min. B) 20min.  €) Imin. D) 1 hour
e NaREEd feRd e S I ?
A) 5RER p) 20ffR O Lfife D) 14w

-8-
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66. Thermal energy that reaches surface of earth from sum, is transferred through process of

A) Conduction B) Convection

C) Radiation D) Conduction and Convection
gt gediat A= S et RN AR T g ?

A) HEH B) FRAE

C) Pewmm 1) S ST Frror

67. True about X-rays are all EXCEPT
A) They are electromagnetic radiations
B) Travel with speed of sound
C) Produced by stopping figh speed electrons in tungsten target
D) Intensity falls in accor dance with inverse square law

W—iaﬁﬁa@ﬁ#aﬁmﬁ%m&ﬂﬁaﬂmm?
A) Fzoreniies e Sed
B) 3 ST e T BT
C) 3 FEAH ZRTEHe SR Al Seae wifere o giaa
D) reed T ot e TR SR T B

68 Temperature required for automated processing is

A) 10 degrees B) 29 degrees C) 35 degrees D) 60 degrees
SR TR ST qTH fohdl 7
A) 10 3 B) 29 379 C) 35 3 D) 60 AN
69. Main component of fixing solution in development of films is
A) Sodium thiosulphate B) Sodium sulfite
C) Potassium alum D) Acetic acid
Rper=aT T SIS T Hewh I ¢
A) Wifeem frimese B) wifea gewEe
C) e UegH D) Warfer G
70. Thickness of lead equivalent for shielding of darkroom wall should be -
A) 1.6 mm B) 2.6 mm C) 3.6 mm D) 4.6 mm
st @ete TR g e s fehdt TG gl ¢
A) 1.6 Tl B) 2.6fFt  ©) 3.6Th D) 4.6t
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71.

72.

73.

74!

75.

76.

008-22 L

Who is responsible for ensuring adequate provision for radiation safety of employees ?
A} Radiation protection advisor B) Employer
C) Radiation protection supervisor D) Health exccutive

=TT UEuyH guarTd) Quit g s @il HeETE E SeEeR st ?

A) TeuE TaH Teee™ B) et (Treta)

C) eugm W™ e D) R sHrieenrRl
Portable radiography, all are true EXCEPT

A) Can be carried to destination B) Simple to use

€) LowmaA setting D) High mA setting
RICERRIERIDIEIC CERE 2t B e Ty o

A) TIaod STEd WS e B) ITRUIE EY

C) TuafT D) e A s
Annual screefipg mammography should be done in women above age of

A) 20 yrs B) 30 yrs C) 40 vrs D) 50 yrs
CHAQSHMET I quro aRenms) soerer g,

Aploas B) 30 =% C) 409 D) 50
Anode is made up of

A) Copper B) Aluminium C) Tungsten-Rhenium D) Lead
TAYE T AT 3R ?

- A) T B) Tgffiem ) Fmea-tfmm D) &g,

X-ray tube was discovered by

A) Roentgen B) William Coolidge

) Gregory Hounsfield D) Nicolas Tesla
- ST N I e ?

4) WA B) faferm #efigst

C) Wi e adies D) e e

For general purpose radiography, mininum thickness oflead equivalent in protective
apparel should be

A) 1 mm B) 0.5 mm C) 2mm D) 5mm
AT T AT, FreTersh Temes wmer wfie=h fmm st fidt oramdh 2
A) 1 fisft B) 0.5fadt () 2 feh D) 5 fnfi
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77. Dose reduction techniques in fluoroscopy include all EXCEPT

A) Reducing exposure time B) Increasing tube current

C) Improving collimation D) Pulsed fluoroscopy
R et Sist e TaTHER Ueh amiesd T FHEE gl ?

A) fesgfmrerdis Ry B) hfRM =E e

€) gfer et D) edg Fghehnd

78. The viewing glass in the CT console rogm should have lead equivalence of

A) 0.5 mm B) I mm €) 2mm D) 5mm
.. Fee sanete S I G i, fehdl sreden gt ¢

A) 0.5 Tt B) At C) 27y D) 5Tt

79. PACS stands for
A) Picture Archiving and Communication Systems
B) Picture Arthiving and Copying Systemns
C) Pictureviequisition and Communication System
D) Pigture Accepting and Communication System
PACS TEUS & 7
A) T arrftfem ofs g fremer el
B) Tt arifam stesidin faedmy
C) T ofFrfam sfewrgfaem fida
D) fepr deaifcdn sfe srgfeem Redm

80. MRI stands for
A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
C) Magnetic RectificationImaging D) Magnetic Resonant Imaging
MRI ¥ %4 ?
A) Hafer ifaaRmmsafem B) Hafes - gatsm
C) Hafemm Y e afem D) Hafes e gt

-11-
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g1.

82.

83.

84.

5.

Darkroom has
A) No light B) Darklight () Sunlight D) Safelight

A= Wi iged
A) YERIFEA  B) TSE HW SEal C) FETH @Al D) YR S staat
Fixing time should be |

A) Halfthe developing time B) Twice the developing time
C) One-fourth the developingtime D) Same as developing time

fipfeRam e Topeft sramarerT gdt 7
A) SoaafuT Feieat 3t A B) STt d3=1 oI 55
C) Sl I in-Tguindes D) I=afids wemas

All are advantages-of automated processing EXCEPT

A) Shortents processing time B) Improve quality control

C) Increases work capacity D) Decreases work capacity
HITEICE TR T Ueh el Hale 378a

A wichan e et et B) =1 forisor g

C) FRT T ey D) SR &Tar e shial
All of the following are plans for datkroom EXCEPT

A) Interlocked doors B) Maze

C) Two way revolving door D) Multiple doors
FETAT @A ETeleieh Ueh sTesa da<) A1 37T 7

A) TATH TN B) T3

C) 33 femifeam gien D) Tfeeue e
Which of these will be completely stopped by a piece of paper ?

A) Neutron B) Gammaradiation

C) Alpharays D) X-rays
ITAeh) SHTT qOT0! TGS ehS<ITgeS Hiareel SRt 7

A) g B) T fEwEm

C) ITHIL D) T3

-12-
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86. X-ray film emulsion is made up of

A) Cadmium B) Phosphorus  C) Silver halide D) Lead
T e $HEYH FHH oel! 3T 7
A) g B) ®EHE C) Toeegtgegs D) =g
87. Single coated films are used in
A) Chest radiography B) Mammography
C) Extremity radiography D) Xeroradiography
fénet nids fthowan T ST Bl 2
A) widrd femmd B) HeEml
C) wafefird e D) FeRRfeAmmd
88. Developing solution used in wet film processing consists of
A) Sulphuric acid B) Sodium thiosulphate
() Hydroquinone¢ metol D) Chrome atum
e e TR Seeelfi Areaeed w o 7
A) FEHNE AT B) Tifean efferiaethe
C)- eI Hfd D) wiH TegH
89 “Orid is made up of
A) Lead B) Lead with molybdenum spacer
() Lead with tungsten spacer D) Lead with aluminium spacer
g e el 31Ed ?
A) g B) Aiciseim Tot e eig
C) e TWE HEd oflg D) Uegfufm wegiee oitg,
90. All of the following are methods to improve radiographic quality EXCEPT
A) Translormer B) Gnd
() Beam limiting devices D) Filters
refieteh! Ush e e UEd) (ST 35T GURuaTETSt araet S ?
A) THHIR B) e
C) i ferfufén feeerga D) fibeed

-13-
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91. Tourth generation CT scanner is
A) Linear rotate type
C) Rotate rotate type
3. T A SR R ¢

B) Linear linear Lype
D) Rotate fixed type

A) Fafer e T B) ferfer farfe ver
S RAIAULAL D) (e fraag Tl
92. Annual radiation exposure i for radiation worker is
A) 1mSv P55 mSv C) 30mSv D) 100 mSv
Yeugm FmTRER Al S Yfeuma werie e TRt ¢
A) 1mSv B) 5mSv C) 30mSv D) 100 mSv

93, Roleof ATRIS are all EXCEPT

A) Registration of X-ray equipment B) Layout approval

D) Repair of X-ray equipment

EEE 1)

CpJnspection

K AFRB = W@Wuﬁw@
A) X T LRI B) ST HIFI
C) it D) - ST GEEI

94. Followingare advantages of TLD badge EXCEPT
B) Provide permanent record

D) Wide dose range

A) Chips canbe reused
C) Compact
ﬁ.m.ﬁ.ﬁaﬁmﬁvﬁ@maéaﬂ%?
A) ot e AU B Tl B) shrerrered A &t
C) HTHR D) Hre S

95. DSA stands for
A) Digital SequentialAngiography
C) Direct Substraction Angiogram

B) Digital Substraction Angiography
D) Direct Sequential Angiography
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96. Who of following can enter controlled arca ?
A) Person with dose rate monitor
B) Radiation protection supervisor
C) Person working under written arrangements of unclassified person
D) Person wearing dosimeter

otoe THETE Eiellertieh! o 4% kal 7

A) B {2 AT AEa stEcta safa

B) ey Wi YRS

C) sTarfigra e o e STt HH T AR
D) SiHiet saeten st

97. All are true about CR EXCEPT
A) Uses a photostimulable phosphor plate  B) Two staged process
C) Direct image reading D) Incorporated in existing equipment
1. 3T, 921 T Ueh AL TE-al T8 7
A) SRR B Gleaadl  B) T Te T Wighdl

C) TrrRa as dfen D) et STRUiAed 7Ed Hhidl
98. CR1s
A) Compound Radiography B) Computed Radiography
C) Computerized Radiography D) Common Radiography
CR__¢ e,
A)@mde et B) #uee teanumh
O) HEUEse emrdl D) e feanndt
99. Who makes sure employers local rules are being followed ?
A) Technician B) Radiation Protection Officer
C) Safety Officer D) Radiation Protection Supervisor
st cenfre PR uTer S S A @t o Fa ¢
A) qifEh B) Hguym wreasH iUt
C) e srferertdl D) Yeuer TRer wdas
100. TLDis
A) Thermoluminescent Dosimeter B) Thermal Labile Dosimeter
C) Transparent Luminescent Dosimeter D) Thermoilluminated Dosimeter
TLD TR
A) siegfie-e griiet B) eric SeTEd SIEHIT

C) TRTE eg i S D) sAigegfiree gidHis
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1.

10.

13.

11.

There is word spelt in four different ways. Out of them only one is correct, which one is
correct ?

A) Tentative B) Tentitive C) Tentetive D) Tenttive

Choose from the group of words given below the phrase for 1diom : To shake of

A) Get read off B) Togetridof C) To escape of D) Torun away
. Find the correct use of NOUN. |

A) No pain was spared B) No pains were spared

C) Pains were not spared D) Pain was not spared

. Choose appropriate synonypis,oi : DEMISE

A) Accident BY ismissal C) Death D) Disappear
. Choose the correct aftorym of the word : BELIEF

A) Trust B) Sure C) Right D) Doubt
Choose the cbrréct noun the given sentence : 1 have received no information.

A) I B) Information () Received D) No
Whichiis effective word from the given words to fill in the blank to make the sentence
meattingfully complete ? : 1 to the teacher for coming late to school.

A) Went B) Apologized () Told D) Bowed
When we they were having lunch. {Choose the correct alternative)

A) Arrive B) Will arive  C) Arrived D) Had arrived

Which is not synonym word in given words 7 . Exterminate
A) Destroy B) Eliminate .C) Eradicate D) Distress

Choose the correct synonym of the word : Town
A) Village B) Cantonment  C) City D) Capital

Choose which is not synonym word in given words of : PROHIBIT
A) Ban B) Prevent C) Abandon D) Forbid

_ Choose one word from following words which is wrongly spelt 7

A) Providential B) Sattelite C) Precedence D) Suspect

Choose the antonym of the word : URBAN
A) Town B) Rural C) City D) Metropolitan
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14. Which is effective word from the given words to fill in the blank to make the sentence

meaningfully complete ? : Whom would you prefer the two of us ?

A) among B) of C) between D) to
15. Choose the word which is most opposite in meaning of the word : Pleasant

A) Admirable B) Disgusting C) Indecent D) Unexpected
16. Wmmﬁmwmﬁwmﬁw

A) THATS B) SeTHAl C) HTEaEd D) misEEs
17. e AT T 3.d@ww€rﬁ.maﬁmaﬁﬁaa?mﬁmwa

A) HAEEHE - B) TR C) &ASTH D) JomerE
18, aaTsfta visgre freaneft wearan Wi e,

A) AT B) Tl C) ! D) T
19, TR arerR RV HATEE ST ?

A) Fra-wg B) F-3H Cy snfvi-a D) -
%0, ETelieri] STEaTI AT T W8 HIVHT ¢

A) o8 B) T C) =M D)
51, Eefieri T s T A greaT el e ?

A) T B) afem C) el D) Wi
20 e St AT Sl

A) ol s - 5 B) e Bl -aTeETe e A0

C) TR B0~ ST W D) S e sa-<ie g S
23, TR Y ¥o8 v ?

A) feow B) SEEY C) IR D) huie
54, TRT CTETET LTS 21 ATt SR =hiowt ¢

A) HA B) FHf C) 9d D) s I W
25, FTAT SITETER TEet A1 ATt AT YRR SN,

A) FHaATEnit B) 3w C) Terarfesio D) wreeAnh
26. <k SIS T

A) Tz~ B) UFMEE-gEae  C) SH-TErd D) afetieh-THRI

4.
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27. IYE VS A,

A) WS B) gz C) faftrs D) @
28, @relie aTaAYE SHHvf ST AT e |

A) ST IR B) SR ST S ohet

C) Aée el gesHeEd D) o et o ursfaat
9. TETAR A1 Y[ear= G hieten ara ety fraer.

A) Fg + AR B) a1 + HAENR C) 9ar + =} D) Hq +3IER
30. wreltel yeeren aumrelf yseremta faet.

ELUECIE

A) =@ By 3ELI C) syl D) U
31, T aTEte R (2w ST, 393% Wed fa =nelt 3 ¢

A) W B) ¢ C) 3% D) ¥
3. TaTefie SigTiehd ¢ BT 3ith Sellehg HIVTe TIFTR 3118 7

¥uRRYBLITORY

Ao B) & C) © D) ¢
33, S Tai=an stft o g feret.

90:3%1:q%: 7 ' .

A) 3o B) ¥o C) 3% D) ¥¥
34, LERxLY =7

A) ¥3CRY B) ¥4&3¢ C) ¥L3IRY D) ¥&4c3
35. 32x3LW+ICIxUI =T

A) kol B) 2lolsl C) 2¢ilso D) 4ol
36. ¢ o TSN aEgH! FoRrd 340 T T, T fom= e Tehmrefta siehet fohct e et 7

A) 3 B) ¥ C) ¢ D) 3o

37. @Il 3o HTieThd ToaTTd G T l.
(2, 8%, %%, 4, R0
A) €3 B) W C) R0 D) ¥
38 T Y08 E AT TSI o R8T T ST S TR SRR FEAT T SRITT 37 Ased 7

A) ¥ B) 4 C) & D)
5.
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39, WWW@@E‘TW%%J@NWWWWW?

A) Ro B) %¢ C) ¥ D) W
40. @aﬂﬂmﬁamwﬁaﬁwmaﬁa?
?9\65 Q-E\, -
A) ¢ B C) W& D) 2’&
41. @Wﬁﬂéﬁ?ﬂnﬁﬁrﬁ*%&rwﬁmaﬁaﬁa?
3 * 3
2 t ¢
* \ %
< o R
A¥Y B) ¢ C) D) 3

42 ‘e Wnﬁ%ﬁmwﬂmmm?
9%, 3%, 30, 3¢, —, SR
A) ¥o B) W C) o D) 3%

43, = G IO AT, TS 2 F WY s, Fe TR T e gEeTeT e TR,
Heaw R HI0 ?

A) 3, R0 B) &, %¢ Q) ¥, %R D) 4,24
A4, gaﬁaaisﬁm%aﬁrt@m.
’e, RY¥, 19, ’F, ’&, 83, 4, —

A) ’3 B) ke C) ¥ D) <%
45. ¥ 3ammmﬁmﬁ@i%ﬁwaﬂﬁa°r?
A) 30 B) 3? C) 3 D) 3%

46. T T ST el STHETd A ¢
A) RETR. 23%¥% B) L4 23ue  C) RET. 4’4o D) RWIART. 8RXS

47, AT T T FT o Fata ST 3T 7

A) TS B) sfam C) er D) FAeH
48. Wﬁvmﬁaﬁwé@m%eﬁm?
A) 4o B) 3% C) ¢ D) 0¥
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49 Tl IO Sl qgia. ARTEis—=IT 7 gieel -

A) Tt B) ey C) TifeEH D) et
50. T 1 SHUIN YIsT SNSEl. |

A) Ffem B) d/ C) fiaes D) =@l
51. ST Gt T HETet ugdt Fé o sheel fact! ?

A) T, 494 B) R, 229¢  C) T, 2¢L8 D) TR, 1¢L
52, AEE YR aderT= arg| e (0 afcaay rmd.

A) Jedfdd, B3 ofca. C) wedfed. D) ¥33feq.
53. SR YT JeaTel AR FHHITS TS hivid ¢

A) - B) FAteH C) HERTE D) dHesTig,
54. SR GOSN Rieand g ?

A) IR B) amEi™ C) Serem D) St
55, TTHEANTT € SHeua1 B0 qisell ¢

A) ugla ATE B) FaTedt meft C) FAYEE D) ATseTeg e
56. ot <. & O wiaeites " ShioreT TRTEL FTataTd ¢

A) &3 B) feaam C) Wi D) s
57. &S ATETE! HIv ST 3TR ?

A) B) T C) & D) &
58. YRR e TR garetd B

A) TR B) AR C) SiFmE-s D) h
59. FTRAHEA VA HEEed AT 7

A) A B) FAH C) TSR D) it

60. iV dies WY ey 7
A) T8, B) SR C) ¥ D) F9E
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61.

62.

63.

64.

65.

Who of following can enter controlled area ?
A) Person with dose rate monitor
B) Radiation protection supervisor
C) Person working under written arrangements of unclassified person
D) Person wearing dosimeter

e ThEmed Erefiertieh vl a4 e ?

A) B T Hifiet die afiicten saferd
B) feueM TaHE YRAFST

All are true about CR EXCEPT
A) Useslaphotostimulable phosphor plate B) Two staged process
C) Direet image reading

i, SE T T oAl Ha S 318 7
A) FRIfRREEA Bl e amd  B) 2 evTdie TR

C) srEEe s dfen 1) SME=AT IUHTOTTES HEd Ll
CRis
A) Compound Radiography B) Computed Radiography
C) Computerized Radiography D) Common Radiography
CR ____ 3R
A) sse e B) wges ifeaimmhl
Q) HweEse e D) = et
Who makes sure employers local rules are being followed ?
A) Technician B) Radiation Protection Officer
C) Safety Officer D) Radiation Protection Supcrvisot
Tt et TS Wer i SR AT @rl v R 7
A) T B) Usugm wedH sifeEri
C) geen sl D) Yeuym yiewwH wiagh
TLD s
A) Thermoluminescent Dosimeter B) Thermal Labile Dosimeter

C) Transparent Luminescent Dosimeter 1>) Thermoilluminated Dosimeter

TLD MR,

A) sTegfiwese giEHie B) enlet Tengat ST

C) UG T Eh S It D) uigegidE i
8-

MG 0 0

D) Incorporated in existing equipment
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66. Filter in X-ray tube is made up of

A) Copper B) Aluminium C) Rhenium D) Gadolinium
U -1 SN fheet HIM Faiet 3w 2
A) T B) Uegittm () Pem | D) eiferfem

67. Rectifiers are
A) Conductors
C) Superconductors

B) Insulators
1)) Semiconductors

UFewrrd wr 3Rd ?
A) weded B) gcted
C) gReFHSaH D) ftcheazd
68. Anode in mammoggAphy tube is made up of
A) Molybdenuiy B) Rhenium
C) Tungsten D) Copper
T wejerefict TS ST ST 3THd ?
A) T B) am
() T D)

69. AERB stands for

A) Atomic Energy Ruling Body

B) Atomic Energy Regulatory Board
C) Atomic Energy Rules Body

D) Atomic Energy Regulation Body

AERB %Rl & ?
A) Weifirer G wfom wigh B) eifies wafef tgtedt siré
C) Uit wfl wew =gt D) it wafel teypier aid)
70. Duration required for automated processing is
A) 5 min. B) 20 min. C) 1 min. D) | hour
sremde yaRnmardt fordt srerrash srawre swar 9
A) 5fafe B) 20fafR  ©) 1fafe D) 1 a%
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arth from sun, is transferred through process of

ergy that reaches surface of €
B) Convection

71. Thermal en

A) Conduction
C) Radiation D) Conduction and Convection
g et WU oo e ST SRR T B 7
A) HEFH B) Hroedtd
D) SEF I ot

C) Hewm
72. True about X-rays are all X CEPT

A) They are electroriagnetic radiations

B) Travel with specd of sound
high speed electrons in tungsten target

C) Produced by slopping
D) Intensjtyfails in accordance with inverse square law

2d @reﬁaﬁaﬁaﬁm%qa?wmﬂéaﬁataﬂ%a?

A e YT ATTed

R ST e SETE S

| C) ﬁmzﬁzﬂ%ﬁwwmwﬁ@ﬁﬁmm
D) ﬁémmﬁ@aﬂmﬁﬁﬁmm

quired for automated processing 18

B) 29 degrees C) 35 degrees D) 60 degrees

73. Temperature ré
A) 10 degrees
e afRE snawEs e i

A) 10 3 B) 29 ¥ C) 35 3 D) 60 3

onent of fixing solution in development of films is
B) Sodium sulfite

D) Acetic acid

74. Main comp
A) Sodium thiosulphate

) Potassium alum

Seperre frepTaTA e YIS T Heh Eal G
A) Hifeem Prlaere B) Tifeam Ue®iEe
C) ieRwm G D) Tarfeh e
75. Thickness of lead equivalent for shielding of darkroom wall should be
A) 1.6 mm B) 2.6 mm C) 3.6 mm D) 4.6 mm
sie wretrea ataaeTEet g e ST foRdt s Edl ¢
D) 4.6t

A) 1.6 Tt B) 2.6 il C) 3.6Tf
-10-
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76. X-ray film emulsion is made up of

A) Cadmium B) Phosphorus C) Silver halide D) Lead
e -4, fehen e T S TR ?
A) Hem B) HiEHE C) foeesEanEs D) ®ig,
77. Single coated films are used in
) A) Chest radiography B) Mammography

C) Extremity radiography D) Xeroradiography

ﬁnﬂaﬁ%@ﬁwwww:feﬁ@aﬁ?

A) iR B) HITTH
o D) FernfemTh

processing consists of
B) Sodmum thiosulphate
D) Chrome alum

78. Developinggoluiion used in wet film

A) Sulphuric acid

C) Hyiroguinone metol

%?f%?nshaﬁm%ﬂa%aaﬁ%ﬁawﬁmm%?

A) GeRth AT B) wfem ofaehe
C) TG N D) FH GeH
79. Grid is made up of
A) Lead B) Lead with molybdenum spacer
C) Lead with tungsten spacer D) Lead with aluminjum spacer
e el wedt T T
A) &g B) Tiefadm S aiad €ig
C) e we are g D) Gegfirfem TR AT i
20. All of the followingare methods to iImprove radiographic quality EXCEPT
A) Transformer B) Grid
C) Beam limiting devices D) Filters
@?ﬂaﬁﬁ@mﬁqﬁwmz@mmmﬁ ?
A) TREEHHT B) i
D) feeed
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81. Fourth generation CT scannet is
A) Linear rotate type
C) Rotate rotate type
1. T el SERET v ¢

B) Linear linear type
D) Rotate fixed type

A) TR T TR B) feferr fafat s
C) UeE T ThR D) Tz ftrag ¥R
82. Annualradiation exposure lithiofor radiation worker 1S
A) 1mSv RIomSv C) 30 mSv D) 100 mSv
feuyH PR R STt bS LR RICIRC I
A) 1mSv B) 5mSv C) 30mSv D) 100 mSv

83 Role of AERBare all EXCEPT
A) Registration of X-ray equipment ~ B) Layout approval

C).Anspection D) Repair of X-ray equipment

TR <t syfiverT ek ST T ATE
A) T - JUHIT USRS B) wieTSe HI=Idl
C) i D) TEE-X Il gEEd

84. Following are advantages of TLD badge EXCEPT
B) Provide permanent record

D) Wide doserange

A) Chips canbe reused

C) Compact

A dl. ) IR TS U e HA AT ¢
A) fyoret e AT &S kel B) s i &dl
C) wHidae INEICEEEEES]

85. DSA stands for
A) Digital Sequential Angiography
C) Direct Substraction Anglogram

DSA TN &1 ?
A) fefvea faaafRmEa S IECIDILT| B) fefeet aesaam siiwmmhl
C) SRREe AT SR D) e Rt sifEmmd

B) Digital Substraction Angiography
D) Direct Sequential Angiography

12-
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86.

7.

88.

89.

90.

Darkroom has

A) No light B) Darklight C) Sunlight D) Safe light

= Wiefiney

C - 008-33

A) TERITEG  B) TS SEW STl C) SR S D) gfera v st

Fixing time should be
A) Halfthe developing time B) Twice the developing time
C) One-fourth the developing tifro D) Same as developing time

e Ao Tonelt stamre 2t 2
A) SeEATUT et averf Fex B) S=afim Ia= ge 9w
C) SwAfimIFwE gadE D) Swafin I wed 3

All are advantagesol automated processing EXCEPT
A) Shorteng processing time B) Improve quality control
C) Increases work capacity D) Decreases work capacity
TS R v U T g e
A) Ui 325 il B) ==t s genat
C) wri= s reaat D) = efoet s o)
All of the following are plans for darkroom EXCEPT
A) Interlocked doors B) Maze
C) Two way revolving door D) Multiple doors
ST @I TS @reltereh! Uk el e AT 3imdq 7
A) 3T R B) ¥"
C) T3 feffeam gsn D) #feeust Bar
Which of these will be completely stopped by a piece of paper ?
A) Neutron B) Gamma radiation
C) Alpharays D) X-rays
ATIhT 1 YOFIO) I eI Sifee) s ?
A) [ B) a1 ifeuym
Q) IFH L D) T3

-13-
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91.

92.

93.

94.

95.

96.

008-33 N A

Who is responsible for ensuring adequate provision for radiation safety of employees ?
A) Radiation protection advisor B) Employer
C) Radiation protectionsupervisor D) Health executive

AT USUg g Rt wige seaT W) FUAEE) v TR Al ?

FNR UG ERICE S RECH T B) e (water)

C) Meugm dieFeH wides D) i HEtEd
Portable radiography, all are true EXCEPT

A) Can be carried to destination, B) Simple to use

C) Low mA setting D) High mA setting
e tRemmbieTe U g ad st 3T

A) T STET T3 W B) STRuaE @

C) wHu At D) uHe dfé SE
Annual screening niammography should be done in women above age of

A) 20 yrs B) 30 yrs C) 40 yrs D) 50 yrs
G gt AR e iR e .

A) 2078 B) 3098 C) 40 D) 5099
Arode is made up of

A) Copper B) Aluminium C) Tungsten-Rhenium D) Lead
UHIE HIMH STl ATE 7

A) T B) Tegfufiem  C) ameeA-am D) ©fig
X-ray tube was discovered by

A) Roentgen B) William Coolidge

C) Gregory Hounsfield D) Nicolas Tesla
T -1 SIEET ST iUl e ?

A) V==A B) faferm geftes

C) TR Ei-Ehice D) fremiem e

For general purpose radiography, minimuim thickness of lead equivalent in protective
apparel should be

A) 1 mm B) 0.5 mm C) 2 mm D) 5mm
W%@W,@WW@WMWWMM?
INRALL B) o.5fft ) 2fwh D) 5

-14-
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97. Dose reduction techniques in fluoroscopy include all EXCEPT
A) Reducing exposure time

B) Increasing tube current
C) Improving collimation

D) Pulsed fluoroscopy
wERR SIS Newm daTme T IiesdT FRIT= a8l ?

A) fregfom wredisr ey B) ZohITSAT S e
C) sYfor HichHTH D) Youg TR
98. The viewing glass inthe CT consoletgem should have lead equivalence of
A) 0.5 mm B) 1 mm
C) 2mm D) 5 mm
o). T T T T RIET S g o ST gal ?
A) 0.5 T B) 1fuft
C) 2 fodt D) 5 faft

99, PACS stands for

A) PictureArchiving and Communication Systems
B) Pitture Archiving and Copying Systems

C) Picture Acquisition and Communication System
I3} Picture Accepting and Communication System

PACS T80 & 7
A) Tierr sriifan ofg wegfrene ey
B) Tierer arr=fifam sfe widin freding
C) T ufafarm sfe wmyfdm fredn
D) TR TR ofs wegfaahem faedm
100. MRI stands for

A) Magnetic Requisition Imaging
C) Magnetic Rectification Imaging

MRI T80 &M 7
A) Hifes ffarfem afem
C) Tnfes i safsm

B) Magnetic Resonance Imaging
D) Magnetic Resonant Imaging

B) Hafes =g gafsm
D) Hafees e gl

-15-
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1.

12.

13.

10.

11.

Choose the antonym of the word : URBAN

A) Town B) Rural C) City D) Metropolitan
Which is effective word from the given words to fill in the blank to make the sentence
meaningfully complete ? : Whom would you prefer the two of us ?
A) among B) of C) between D) to
. Choose the word which is most oppoSite in meaning of the word : Pleasant

A) Admirable B) Disgusting C) Indecent D) Unexpected
. Choose the correct synonym Hiithe word : Town

A) Village RY Cantonment  C) City D) Capital
. Choose which is not syfonym word in given words of : PROHIBIT

A) Ban B) Prevent () Abandon D} Forbid
Choose one werd from following words which is wrongly spelt ?

A) Providenial B) Sattelite C) Precedence D) Suspect

. Thereds.word spelt in four different ways. Out of them only one is correct, which one is
correct ?

A) Tentative B) Tentitive C) Tentetive D) Tenttive

. Choose from the group of words given below the phrase for Idiom : To shake of

A) Get read off B) Togetridof C) Toescapcof D) Torunaway
. Find the correct use of NOUN.

A) No pain was spared B) No pains were spared

C) Pains were not spared D) Pain was not spared

Which is effective word from the given words to fill in the blank to make the sentence

meaningfully complete 7 : 1 to the teacher for coming late to school.
A) Went B) Apologized  C) Told D) Bowed
When we they were having lunch. (Choose the correct alternative)
A) Arrive B) Will arrive C) Arrived D) Had arrived

Which is not synonym word in given words ? : Exterminate
A) Destroy B) Eliminate C) Eradicate D) Distress

Choose appropriate synonyms of : DEMISE
A) Accident B) Dismissal C) Death D) Disappear

-3-
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14. Choose the correct antonym of the word : BELIEF

A) Trust B) Sure C) Right D) Doubt
15. Choose the correct noun the given sentence : I have received no information.
Al B) Information  C) Received D) No
16. Taarll aTR T FASTAEE HlEmE! ¢ .
A) Than-wig B) &1-3H C) sTr-d D) SR
17, el ST AT THCIE YR ehIvT 7
A) 99 B) id C) ®H D) &
18, @it s ior e T = Tear qurref et 7
A) afai B) sTies C) wiEh D) @
19. T0W TTOTYT TEehAT AT ST T 0T, T A e
A) FHHS EIGES! C) HIEgd D) TifeEs
20. gtel HHEI Th Fiefut 9758 T Bl T e S ST { AR IAT
A) #neerl B) AR C) TEIEEF D) SorEr
51 arenta ysere gl wrearn vt fHaer.
INELLEICL B) WA C) e D) T
22 Erelie AT FHR T A HasT.
A) SASTIE 3T B) ST STge YT el
C) FTSe HieHid HesHesd D) T e s aefa
23. eTaR A YeerE et wIEE A W .
A) €5 + AR B) Hal + AR C) ¥ar + 4|l D) ¥q +3HATER
24 G SreaTEE T SreaTe Wi ST,
ECUECIT
A) =R B) 35000 C) AT D) SEu@En
25, e et ST Sl
A) PR 0 -fTesstt oo B) U B - ST shedHT A0
C) T o - I Sy D) S ereE st -2re g s

26. WA I I8 HIVRT 7
A) oo B) S0l C) InwgEd D) it
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

TRATY TETET ST 91 ST e S0 2hI0TdT ¢

A) Fad B) &t C) e INELLIEEC]
AT TATETER T 1 a1 el SISTaT S 3T,

A) Faagn B) IwTaRi C) fornfasm D) veeantt
REACIEICNICIR

A) FRFaR -3l B) (A -I@A  C) SAM-WEMRA D) afcHich-TmmT
G W58 ol

A) S B) gz C) ffirs D)
LE]XLY = ¥

A) ¥3LEY ) ¥4E3¢ C) ¥C3EY4 D) ¥&4c3
IxILO+REINCTFT?

INR LAY B) %¢ouse C) 2LLlso D) 2¢4wol
R¢o TR R A 34 o T T, R foren e e wiokat fofedt AT et ¢
A) Y B) ¥ C) ¢ D) 3o

e S R ¢ 2 TR STR. 83 R Wl et =l At ?

A) W B) =¢ C) ® D) R¥

Il 37k TIfAahd % 81 3o STaehg BT T HTE 7

YHESRYI L R30RY

A) ¥ B) & C) D) ¢
201341837

A) 30 B) ¥o C) 3% D) ¥¥

T T YHIOTIE SR, STeTTs 2 ° Wy ST, Heam Terish) T U8 ga=are v e,
e 9 R 7

A) ], R0 B) &, 8¢ C) ¥, 2R D) 4,84
Tt 37k ATforeht 01 .

’¢, RY, %6, /3, ’E, 83, {4, —

A) J% B) <e C) R¥ D) <%
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39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

008-44 00O

¥ T 38 AT R Ty deih waad et ?

A) 30 B) 33 C) 33 D) 3%
L%, 8%, ¥R, W, Ro -
A) ¢3 B) W C) o D) ¥}
S YR0]—& T HEIAAT ' F T 571 ST 318 R L9 T=AT T 10T 37 38T 7
A) ¥ B) 4 C) & D)
T AR O A s, 430 SR, TR Fdie aaid oTaH e Siv) ?
A) e B ¢ C) ¥ D) 22
WAl SRUT Aha FehTen STIY shivrel) T et 7
Q'}Xa 28‘17
A) ¢ B) C) % D) %%
WA T ST O * =47 STt hioraT o a8 7

3 * 3

¢ Y A

* * 9

¢l o 2
A) 4 B) ¢ C) 3 D) 3

Qe 37 ATferard Feprea srft sk ivrd gt 3a ?
2Y,%%,30,3¢, —, 43

A) %o B) ¥4, C) bo D) 32
&Y ST st gvlar, =mErdfe - 9t gl -

A) Tt B) afy C) Wik D) *d
2T A FHOM ¥Is A5G,

A) IrcgiEm B) @& C) fuass D) =t
ST Gt A7 WETeRt deaft 353 o et foedt 7

A) TR, L0k B) SR, $49¢  C) T, LeLE D) Ie%, 24
-6-
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49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

TR T FEAT hegl AT AT 7

A) RER. 1R¥R B) L4 3. 8]4e () REWM. 2]4o
TCATA 10T TaTd e Tuir Hata ST 911 ¢

A) H3 B) R C) faEr
TenTeg Tereraa=h vew @ fhdt oTre 7

A) o B) 3% C) e

G e T ~ warefa 2id.

A) TES B), 185t C) NaraE-v
AT 10T YeTRea S ?

A) FHH B) T C) TEgNH
whiore e Tl Wt ?

A) g B) wart C) ¥

A IR T AT Qfcaay e,
A) uifeq. B) 3vafea. C) weafeq.
Tt T IeaTeTa TR SFHTaRTe 59 I ¢

A) ST B) FAleH C) eI
AN FL= HroreT foregrd o 7

A) I B) awf C) getern
T TS € FHed T vl arSe! ?

A) 9T AgE B) weret eft C) SETHE

E 1Kz R R LR RC E C Rt e A RN | R | et

A) & B) feadm C) wHie

T1e IarS! HU e e 7

A) & B) € C) =

C - 008-44

D) %4 3. 2]¥R

D) ®Aieh

D) ¢

D) &N

D) AffReA

D) &

D) ¥33@feq.

D) afieg

D) ST

D) WISt et

D) aeftstt

D) 4
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61. Fourth generation CT scanner is

A) Linear rotate type B) Linear linear type
C) Rotate rotate type D) Rotate fixed type
ot A, et Seft S w7
A) fafrer e vr B) fafyer fafer ym
C) VT UL T D) ez fhaag T
62. Annual radiation exposure limit.fer radiation worker is
A) 1mSv B) 5miv C) 30mSv D) 100 mSv
Weuem wrmiES anfies erem uaedisr Hafar fad 7
A) 1mSv Bl 5mSv C) 30mSv D) 100 mSv

63. Role of AERB arq il EXCEPT
A) Registrafioti of X-ray equipment ~ B) Layoutapproval

C) Inspeetion D) Repair of X-ray equipment
AERRHfHeh1 T aTesdl |4 372

A), Ty -3 Iupon PR B) A3 HI=FIT

C) D) T - SUHTTT FERA

4. TFollowing are advantages of TLD badge EXCEPT

A) Chips can be reused B) Provide permanent record

C) Compact D) Wide dose range
A v &, o B I U FTd] e IATE 7

A) T g1 arm 2 siehdl B) et Aidl 3l

C) ST D) T S i

65. DSA stands for
A) Digital Sequential Angiography B) Digital Substraction Angiography
C) Direct Substraction Angiogram. D) Direct Sequential Angiography

DSA &S & ?
A) Tefsea frmafEma s B) fefves gatdamm siformumdt
C) SrRiEe e s D) srae e st
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66.

67.

68.

69.

70.

Who of following can enter controlled area ?
A) Person with dose rate monitor
B) Radiation protection supervisor
C) Person working under written arrangements of unclassified person
D) Person wearing dosimeter '

FHINeE TR Wieherdsh! I 3% el ¢

A) TS T2 AT iaa STocie safed

B) Sur MaH uarsi

C) oFariigra oAt ot =Eed) STl 1A BT SAfad
D) eiRmfiet wdere i

All are true about CR EXCEPF

A) Uses a photostimulable phosphor plate  B) Two staged process

C) Directimage reading D) Incorporated in existing equipment
AR, Teel 1 UF A3l Je siet 3118 ¢

A) BRATEHATE FEF S ITRA  B) G Tt T

C) SRREE g dfen D) Srefen UIHES Hed SLd!
CRis

A) Compound Radiography B) Computed Radiography

Cy~Computerized Radiography D) Common Radiography
CR 3. |

A) FUEE HeATTh B) &wee feamdi

C) FgerRse teammd D) i s
Who makes sure employers local rules are being followed ?

A) Technician B) Radiation Protection Officer

() Safety Officer D) Radiation Protection Supervisor
e T FEaT e S STea A @t i ¢

A) T B) eurm TIea At

C) gra e D) EuE e widasd
TLDis

A) Thermoluminescent Dosimeter B) Thermal Labile Dosimeter

C) Transparent Luminescent Dosimeter D) Thermoilluminated Dosimeter
TLD 2.

A) IeTEEh S B) oMl (iegd Sie It

C) TG RfeEhee gt D) TigegiiAee e

9.
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71. Filter in X-ray {ube is made up of
A) Copper B) Aluminium C) Rhenium D) Gadolinium
- zg,amﬂafﬁs?awﬁ S 3T ?
A) TSl B) Uegfram C) D) feiferE

72. Rectifiers are
A) Conductors
C) Superconductors

B) Insulators

D) Semiconductors

A) FeFed _ B) THAH
D)@rﬁrmﬁ

73. Anode inax smmography tube is made up of

A) Mglybdenum B) Rhenium
() Jumgsten D) Copper
TR SR e ST ST S ¢

A) HieAsEHH B) 3w
C) TR D) @

74. AERB stands for
A) Atomic Energy Ruling Body

C) Atomic Energy Rules Body

B) Atomic Energy Regulatory Board
D) AtomicEnergy Regulation Body

AERB TEUR &7 7
A) deir = RIS B) ettt TR el
) it s e T ) e A e el
75. Duration required for automated processing 1s
A) 5min. B) 20 min. C) 1 min D) 1hour
StaTe NRFTEE! i e ST Al ?
) st p) 20ffz  ©) 1 furfe D) 1 9@
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' 76. Thermal energy that reaches surface of earth from sun, is transferred through process of

A) Conduction B) Convection
! C) Radiation D) Conduction and Convection

@qummmmmmwmaa?
A) HERA B) &R
) ewmm NS E Tt

77. True about X-rays are all EXCEPT
A) They are electromagnetic radiafions

B) Travel with speed of sound
C) Produccd by stopping high's| eed electrons in tungsten target
| D) Intensity falls in accordarioe with inverse square law

T~ e Geferdeh Ik as AT U SIS, STed ¢
A) & seE e HE Jned
B) ¥ ST ST ST e
C) A I TN ST AT TR offeret frmrfor e
D) sl ST o A R R R S

"!.

!
|
78. Temperature required for automated processing 15
\

A) 10 degrees B) 29 degrees C) 35 degrees - D) 60 degrees
ATe wiFaTdt sravas araur Tt 7
A) 10 33 B) 29 31 C) 35 39 D) 60 339

79. Main component of fixing solution in development of films 1s
A) Sodium thiosuiphate B) Sodiumsulfite

C) Potassiumalum D) Aceticacid

e PerEmsie ST e Heeh ST ¢
A) Gifeam frgee B) TfEaw AeFEe
C) Ui tem D) tfafes tae

80. Thickness of lead equivalent for shielding of darkroom wall should be
A) 1.6 mm B) 2.6 mm C) 3.6 mm D) 4.6 mm

e el ThETETS) aee el siel o s &t ¢
A) 1.6 Tt B) 2.6 Tl C) 3.6TH D) 4.6 frft
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ate provision for radiation safety of employees ?

B) Employer
C) Radiation protection supervisor D) Health executive
e e AT o1 T T ¢

81. Whois responsible for ensuring adequ
A) Radiation protection advisor

i LS g Qs
A) Yesoe TieaRH TgoeTs B) friwe (AT
¢) Yeuem M LUTIRED D) I
EXCEPT

2. Portable radiography, all are e
A) Canbe carried to destnation
C) Low mA setting
D iEw DIk di S EEIEIEIE
INREELN S TR oM

B) Simple touse
D) High mA seting

0) Rt D) THT BT ST
83. Annaal screening, mammography should be done in women above age of
Ap20 yrs B) 30 yrs C) 40 yrs D) 50 yrs
A) 203 B) 30N C) 408 D) 50

%4. Anodeis made up of
A) Copper

@gaﬂﬁmem%?
A) @ ) S ©) s

5. X-raytubewas discovered by

A) Roentgen
C) Gregory Hounsfield

B) Aluminium Q) Tungsten—Rhenjum D) Lead

D) g,

B) William Coolidge
D) Nicolas Tesla

Qaﬂﬁ‘&gaﬁsﬁ‘lﬁ“ﬁaﬁﬁ?
A) T - B) fyferan eSS
C) IR RINAIE D) Frnreg S

radiography, minimum thickness of lead equivalent inprotective

86. For general purpose
apparel should be
A) 1 mm B) 0.5 mm C) 2 mm D) 5 mm
WWW,QWWWMWwMW‘?
A) 1 i B) 0.5 Frefl ) 2 el D) 5Fef
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87.

88.

89.

90.

Dose reduction techniques in fluoroscopy include all EXCEPT

A) Reducing exposure time B) Increasing tube current
C) Improving collimation D) Pulsed fluoroscopy

Wﬂ%mmﬂmﬁﬁmmmﬁ ?
A) fregfénurmasResd B) SIS A e

C) syfam ey D) HeHg Fgiahidl

The viewing glass inthe CT console rooni should have lead equivalence of

A) 0.5 mm B) 1 mm C) 2mm D) 5mm

H A i s SEa e vy wtg fod) swmer ad 7
A) 0.5 B). i f C) 2 fodt D) 5 T

PACS stands for
A) Picture Archiving and Communication Systems

B) Picture/Archiving and Copying Systems

C) Piefire Acquisition and Communication System

D)<Picture Accepting and Communication Systen
PACS TeUN % ?

A) firerer srritfam sfe Frgferem oy,

B) T arwifam sfesidin faediug

C) T ufaafty Sfewryferr o

D) firsrer e afe wrgfene faem

MRI stands for

A) Magnetic Requisition Imaging B) Magnetic Resonance Imaging
C) Magnetic RectificationImaging D) Magnetic Resonant Imaging

MRI & [ 7
A) Tifes tfaafem mfsm B) Hafes tgimma gafem
C) Tt tfFfrhem uiem D) Fafes B gl
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91.

92.

93.

94.

95.

O R R

Darkroom has

A) No light B) Darklight ~C) Sunlight D) Safe light
ST Eief e

A) TR B) ez Y FEEr C) gdvhm e D) qefera wepTeT STl
Fixing time should be

A) Halfthe developing time B) Twice the developing time

C) One-fourth the developitfigyime D) Same as developing time
frfaRi 3o Rt sraveE

A) Seeerfin Jeareim 92 B) Yeeaifin Sehea1 e 9%
C) Seeafim d@em uh-AguaEaE D) ol 4 TEeTE 9

All are adviitages of automated processing EXCEPT
A) Skigsfens processing time B) Improve quality control
() “Intreases work capacity D) Decreases work cap acity
SR T e U aTed Fa AR
A) i de el et B) &t frsrm g
C) Rt e arEadl D) el e e R
All of the following are plans for darkroom EXCEPT
A) Interlocked doors B) Maze
C) Two way revolving door D) Multiple doors
sierrn Gielid) el U e Fa s 3Ted ¢
A) ATH ER B) A
) 74 feaifeam g D) afeeue 23
Which of these will be completely stopped by a piece of paper ?
A) Neutron B) Gammaradiation
C) Alpharays D) X-rays
1) e QUi T GRS o T ¢
A) A B) T feusE
C) ICH ¥ D) T~
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R I R
96. X-ray film emulsion is made up of
A) Cadmium B) Phosphorus  C) Silver halide D) Lead

T fien SHeTH e St AR 2
A) Hgirm B) ®EEH
97. Single coated films are used in
| A) Chestradiography
C) Extremity radiography

e e Teper SToR HeTed B

A) i B) Heif

C) wafzfird) e D) #HifeA!

98. Developing solution ¥séd in wet film processing consists of
B) Sodium thiosulphate

D) Chrome alum

O) Ferdase D) Wig

B) Mammography
D) Xeroradiography

%
‘(‘_ .

A) Sulphuric aeig
C) Hydroquinohe metol

2 firer e Soaeiin Hiegermes 19 STad ?

< A) HETI 3T B) wifeem ofiieche
| C) FTHSRIH Hafd D) %9 degH

99_Grid is made up of
B) Lead with molybdenum spacer

| A) Lead
() Lead with tungsten spacer 1)) Iead with aluminium spacer
afte Tt st 3T ¢
A) ©ig B) Hicf e TR gisd olig,
C) TR T HIEd §ig D) Uegfafam e dea g
: 100. All of the following are methods to improve radiographic quality EXCEPT
i A) Transformer B) Grid
l‘ C) Beam limiting devices D) Filters
ATl T Ao o T TSR &St GeuarETd! ITRe S 7
A) TEHHR B) e
C) #hm fafufin fesaa D) firced





